| N of associated (recoToSim) looper tracks vs dxy |

[N of associated (recoToSim) tracks vs dxy ]

N of reco track vs dxy

syoen

Q= L=
£ £
QS <
> o N
[ToRe= N T
- © Xx
% g
o —
— N o =
= S =1
Lo 2
2
8
o £ )
2
) 8
[ 8 -
o € —
— [ |
! 2
) S
— 2 o
1 £ IN]
o 2 1
S
! s
5| S
) 8 31
S 3 S
o _ o
9 L=
£ £
LE )
> o N
o X =]
— © x
% g
o
1M _nlv.U
)
o
o
1
o
n
)
i
o
o
Ite]
£
(=)
Q= L=
£ £
QS <
> o N
[Tpges N
— © X
S 3
=1 ] 4
— © N mt
[ts) H
£
(=) 8 =}
LO 3
[ 3 S
o
— s |
| 3
ﬁ 2
pad o
| 2 IN]
o E 1
N S
o |3 o
[FTTTRTE e
3 e 5
=3 ] 5 ]
— [=} = o
==y J
P
mm
Fooo|
€I
LT 0 [=}
Q= LS~
£ £
> o N
o X Qo
— © Xx
% g
o
1M wH
)
o )
.......................... 0
o
s I3 b
K g ’
— b o
| 3| IN]
o 5 |
I z
| 8 -
PRI PTTII TP L0 2
N bt 4
5 B 3 S 3
- — (=} Z (=}



	Contents
	Page 1


